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' A ® B € & g A # = L
REBHRETEE (B Z) Bl|ix & H M@ & 75 100
TOMABEMEFTFMELES 65
F##%= (ZFoifh)
Fas(E, BileE RERMDED 50%Z TEY, BREDOEENRAENG L -OHRIBLEZITENET,
En5/84f - @7, 000 F x 200 #:=1, 400 FF
STl Z=%8
(B  ffi@3, 000 FH—EEEM@7, 000 M) x200#% =800 FM (FHEi&)

' A ® B ® g A # = L
k & & M@ & 1,400 | & i H % 1,400
= & & i sif % F @ #& 8o #&# H M & 75 800
EE (Z0fth)
FFffiZ=%8 : B¥fi 9, 000 FF —E#S/R 1 9, 800 FF =800 FH (FHiEEi&)
IBREFREERE - 800 FH x 35% =280 +H
Z DA HFE G 484 800 T-H X (1—35%) =520 T-H

g A #® B € 8B g A H = £
& & M@ & FH 9,800 | & i H % 9,800
REBRSESEE (BAZE) 20|k & H M & 7 800
TOMmAEMMEFTFMELEE 520
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SEERS|

FEA RO 9, 600 FFH —REROEHE 9, 500 FH =100 FM
RIEHRSEE 100 FH x35%=35 FH
BRI~y D483 0 100 FA X (1—35%) =65 FM

&8 # = B ' # g 7 ® B ® 8
£ ¥ W 5 £ £ 10| REBHEER (K B) 35
B E AN v U B B 65

R sE (Zoifth)

ATmELE -

B {fi 2, 700 FF—H4F /A 3, 000 FH =300 +H (FH#E#E)
TEIEREEE : 300 FFH x35%=105 +H

Z OB MIESHEFMELES - 300 FA X (1—35%) =195 FH

&8 A ® B & # E A ® B & %
® & & M@ B 3,000 & i G 7 3,000
RERERXE (BAZE) 15| & & f = 7 300
TOMBEMAEFTMELEE 195

£FRT v T 200 FH
RIEHREAE : 200 FH x35%=70 FH
BIEA~ Y DB 200 FH x (1—35%) =130 FH

& # ® B ' # g8 # ® B ® %
€ # X 7 v T 2000 EHEAR (B ZE) 10
B’ E ~ v U B o 130
5. AHERRE

BY (FEE)
ER#%/R i 500, 000 FF x 0. 9+-30 &£ =15, 000 FH

g # ® B ® & g # ® H & #

i (i & g2l £ 15000 | B f & # R & & 15,000

|

H (EEE)
RETEOBIMEEINE : BFRE(E 120, 000 FH -8 ££=15, 000 FH
FiE L ORBMEINE : BFE(E 100,000 FH -8 F£=12, 500 +H
[EMEFEILE : 20,000 FA x (1—35%) =13,000 F+HM
REFREEE - 20,000 FM x35%=7, 000 +H
=EDfEE - (15,000 FH—12,500 FH) x35%=875FH
EHMERILEDEE L -

(15,000 FFH—12,500 FF) x (1—35%) =1,625 FH
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g A #® | € % g A #H = £8
{5 = & 20,000 @ &= +# B £ W A 20, 000
i i =1 H = 15000 & M & #: R & %8 15, 000
® o A o R £ 13,000 #% W £ # B iI = 13, 000
B W E B ¥ 1 £ 1,625 | # & ® &% B £ = 1,625
E AN B OF W OB @& 7000 | g EHR EAME (B F) 7,000
REHRESAE (BE) 815 |&% AN B % W E & 875
& (BEE) :
B . x200%=0.2 (20%)

10 4%

{EENMRETEE - BASE(E 1, 000, 000 FH x {5 0. 06552=65, 520 F+H
SAEFELN%E . (4R [E{M 1, 000, 000 M —Bil{EEN R 51%8 737,856 FH) x20%=>52, 428. 8 +H

65, 520 FF>52, 428. 8 +H
RWEEAEZAVRMEINE

SREENRZAVTRMENEZFET 5

(Hxf3/R1f 1, 000, 000 FF —EAE{EEN R 5+4E 737, 856 FF) x 25% =65, 536 FH

% A ® H & # ¥ XA #® H )
i i =1 #fl Z 65,536 | ffi & #H R F %8 65, 536
6. YI2b+k0zx7
Y7 b TIER
R & {H%E 12, 660 FH -2 =6, 330 FH

% A ® H & # ¥ XA #® H )
Yy 7 k9 oz 7 B H 6,330 v 7 I R S 6, 330
7. REHGH
IREFAHER - 25,000 FH

% XA ® H ® # ¥ A ® H )
B B # ~ E H 25,000 ;R B¢ # + B H £ 25, 000
B OB OB ~ 5 #H £ 5,000 | i L & 5,000
8. EZEABH

% XA ® H ® # ¥ XA ® H )
P A B F 230,000 k . &E AN B F 230, 000
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RIEREEE (RE) -
12,000 FFH % 35%=4, 200 +H

% A ® B ' # g &7 ® H ® £
REBEEE (K B) 4,20/ AN H F W B H 4,200
BEfaxtRRIEEE : 4,200 FH—AEF1 210 FH—E£MEEIZ£ 35 FH=3, 955 +H
REREEE (BE)

98, 000 FH x 35% =20, 300 +H

% # ® B ' & g8 # ® B & &

REBEEE (BEE) 20,300 & AN B F B B M 20, 300

BfExIRRMEE : 20, 300 FH — D#t4f& 42 FHA+ E#t#% =K 35 FA+EME 280 TH+RiEH X &+41H 105 FA—

EABEFELE

LEARBIEREEE X 18,375 TA-SHHEREREEE 20,000 FH=1,625 FM (f&74)
X OEANBRFRBEZERE LAY, ABFH, £EYNEIEE DHHAR E#KX BR FREASHHE 7

AT TEEDTVEEA,
RILVHERE

ESMRTy T 70 FH—-EMEFEILE (7,000 FH—875 FH) =14,483 FH

& X7 ® B * # g # ® B ® 8
kR =2 H B H =% 120,000 |« # H & ™ F 78, 500
X O H B B F 41, 500
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